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NEET MICRO TEST 11 (21.11.2024)

20x4=80 MARKS

Botany: Sexual reproduction in flowering plants, Z0ology: Reproductive Health

Chemistry: Solutions, Physics: Thermodynamics
1. Percentage of pollen grains liberated in
angiosperms at two celled stage

1) > 60%

2) <60%

3) > 40%

4) < 40%

2. Wind pollinated flowers are
1) Small, brightly coloured, produce large
number of pollen grains
2) Small, produce large number of pollen grians
3) Large, produce abundant nectar and pollens
4) Small, abundant nectar and odor, dry pollens

3. Wind pollination is commonly found in
1) Large trees
2) Most of the hydrophytes
3) Grasses
4) Most of the pteridophytes

4. Which one of the following is considered as
functionally cross pollination and genetically
self pollination?

1) Autogamy
2) Cleistogamy
3) Geitonogamy
4) Xenogamy

5. Find the alphabets A and B in the following figure.

1) A-Vacuoles, B-Generative cell
2) A-Nuclei, B-Vacuole

3) A-Vacuoles, B-Nucleus

4) A-Nuclei, B-Vegetative cell

1. & G mmeweouled o eitem  EHdGwimerd
QuITb&efled aBalsELILL L SIHHS HIH6TaHer 6
FHAIHD
1) > 60%

2) < 60%
3) > 40%
4) < 40%

2. sMBEl&TeLPeVLD WSIHHF CFTHMB HB(HLD L, HH6T

1) Afw, Vpsrswrer HBomLW, HD
oTewIenlHenEBUTe0Ta  DSEIHSH — SHIHETHEMEN
® BuUSHFH CFUISBS

2) Afw, oiFs eeavienibmauieoner WOHTHS
BHIFHCTHM6ET 2 (HeUTHES B BSI

3)  Ouflwgl,  gymemomer  Gmpeir
LDBPHSHIBEN6N 2_BLSHSH CFUIFBE

4) Aflwi, egymeniore Gapelt  LOBGID  euTFEDE,
2_60bS LB HSBIHEN

LOBMmILD

3. BIBEI WaIHHF CFJhma LUTHIOUTS STen LB
1) Quiflus WyBieiT
2) QuptbumevTen eas Grr.”.eoLIL Bab6IT
3) ubaseit
4) Qugpibumevrest GLAGL TenLI Heb6iT

4. LT&sTeu(heU6TBSI60 Il GFweLLITL 19 68T
SlgliuemLuied Hevll WEIHHF CFjHma LoBMID
wruem FHWTS ST WaIHHEF CFjHma eyl
B(hSLILGHBSI?

1) g6 &EIHHF CFjHmes
2) BeMerd@LTCHLA

3) el BLBamBsLo

4) FBeammBasLh

5. Ueiteumd LILSHSHe0 A oBpid B e1psaissamend
SHEWTL N3 5.

1) A-Vacuoles, B-Gai@yi 1961 GFed
2) A-Nuclei, B-Vacuole

3) A-Vacuoles, B-pluydefuierd

4) A-Nuclei, B-2_1_s0G560
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6. Which of the following is the non-steroidal

contraceptive pill prepared at CDRI, Lucknow?
1) Mala D

2) Saheli

3) Mala N

4) Progestasert

7. In India, the legal marriageable age for males and

females respectively are
1) 21 years, 18 years
2) 18 years, 18 years
3) 18 years, 21 years
4) 21 years, 21 years

8. Natural methods of contraception work on the

9. MTPs are considered comparatively safeupto

10.

principle of avoiding chances of sperm and ovum
meeting. It includes

a. Withdrawal method

b. Periodic abstinence

c. Lactational amenorrhoea
d. Sterilization

Select the correct option.
1)a, b,candd

2) b only

3)a,bandc

4) d only

weeks of pregnancy
1) 12
2) 20
3) 25
4) 18

How will you best define the term “infertility”?

1) Itis inability to produce a viable offspring and
is always due to defects/abnormalities in
female partner.

2) Couple is unable to produce children inspite
of unprotected sexual co-habitation even
after two years.

3) It is due to only defective sex organs.

4) 1t is not an inability to produce a viable
offspring

6.

Lelieu(heuaieuBmled  61&  erOITUIL 60  DI60EVTS
BMHBHHML  rHHemy, vbCammaleasr CDRI @6
STl L gl?

1) wmreor D

2) 58ame

3) wmeor N

4) Progestasert

AhFHwmaled, LEHHEHHGD OIS EHHEGLD
(BB H(HLOGWT eUULII

1) 21 syewiser, 18 eyemiBHasei

2) 18 syemipameir, 18 oy emiHesein

3) 18 syemihamerr, 21 o em[HE6i

4) 21 sy emiBeei, 21 SyewiBSH6N

8. BUIBMBWITE HHHHML (LPMBEH6T b OBBILD

10.

ST O\F60 FhBHLINSHSH SHellJb@ELD
CameTenaUlen SiglitienLuied OlFuwedLBHa smmse.
@F60 SILMIGLH6

a. alleu&E6D (MM

b. &m0 @ewL Geuerd (ewm

C. LTI (BLD &T60  LOTFHATL TuTl6dTemLn

d. smHHML

Flwreend s CHiIbHoHBEHSB)LD.

1)a,b,candd

2) b only

3)a,bandc

4) d only

BFLILH S 60T aumymibeT  eueny  MTPseit
QULIL L 6el6b LUTHISTULTENSHTHS HHBHLILIBGS MBS
1) 12
2) 20
3) 25
4) 18

“LD6VL_(BHHEMMID” 61603 UTTHMBHMUI  [HRIGH6IT
eTeleITm FBLILTS elenTUIBILILTTSH6IT?
1) @5 @ FTHHULTE FhHHHMUl 2 (HelThd

@wieoTemnLp LOBMILD 6TLIGUITHILD ©\L16wT
HlHWTUNGT GHMBUTHE6T | DIFTHTF6mIRISH6IT
STJ60TLOMGHLD.

2) Qo wMBEEEGI UG &L,
UTSISTLILIBMG 2 L 6VIM6Y QUMD MU T 60T
Curaib HDUSHWTTEL GHLOHMSHBM6NL  GILIB
(PIQUIRTELEM6V.

3) Q& GoBuT@eren LTeIWIEd 2 mINILEG6T6eD
ol BB gBUBEBSI.

4) @5 @ STSHHWITE FHeHHMU 2_[HeouTdhse
BIWIGVTENLD DI6VEV
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11.

12.

13.

14.

15.

16.

“The importance of many pure substance in life

depends on their composition.” Which of the

following statement justify the above fact?

1) 1 ppm of fluoride ions in water prevents tooth
decay.

2) 1.5 ppm of fluoride ions causes tooth decay.

3) Concentration above 1.5 ppm can be
poisonous.

4) All of the above.

The molarity of the solution containing 7.1 g of
Na>S04 in 100 ml of aqueous solution is

nH2M

2)05M

1M

4)0.05 M

The molarity of pure water is
1)50 M

2)18 M

3)55.6 M

4) 100 M

The volume of 4N HCI and 10N HCI required to
make 1 litre of 6N HCI are

1) 0.75 litre of 10N HCI and 0.25 litre of 4N HCI
2) 0.50 litre of 4N HCI and 0.50 litre of 10N HCI
3) 0.67 litre of 4N HCI and 0.33 litre of 10N HCI
4) 0.80 litre of 4N HCI and 0.20 litre of 10N HCI

A solution made by dissolving 40 g NaOH in
1000 g of water is

1) 1 molar

2) 1 normal

3) 1 molal

4) None of these

A gas can be taken from A to B via two different

processes ACB and ADB.
e B
A D
>V

When path ACB is used 60 J of heat flows into
the system and 30J of work is done by the
system. If path ADB is used work done by the
system is 10 J. The heat Flow into the system in
path ADB is:

1)407

2)801J

3) 100J

4) 20

11.

12.

13.

14.

15.

16.

"aumpdenasuiled L6  FHmwl QTR e e
(PSS WSHSBIAILD Sleumleor HE0ENEUEMUIL
QUTBISHSHSI." Leeumd gFmBpiseilsd 61gh GoBev
© 6116 FnBenm HiTewrulsSmg)?

1) sewienffled 1 ppm ..uyeheor®G SLes6T Led

FHenHemeud HHHIMSH.

2) 1.5 ppm . .yeneoyp® owel  @mhHTeo Lisd

FevsHmeu gBLBHSHILD.

3) 1.5 ppm &@ Guwed 2 siten QFflal alagors

B\(HSHHELITLD.

4) GoBev 26116 iGN SILD.

100 ml  pflw  semggeded 7.1 g NaxSOs
Oamemngmeb@L dmygeder Guomeomflily
H2M
2)0.5M
3)1M
4) 0.05 M

girwi iiflesr GomeomflL g
1) 50 M

2) 18 M

3)55.6 M

4) 100 M

1 oy 6N HCl &3 o peurdas 4N HCI wBpib
10N HCI @651 ooy (pemwmGui

1) 0.75 69ty 10N HCI & 0.25 6S Ly 4N HCI
2) 0.50 691"y 4N HCI & 0.50 68t Ly 10N HCI
3) 0.67 a9y 4N HCI & 0.33 6t Ly 10N HCI
4) 0.80 a9t iy 4N HCI & 0.20 6t Ly 10N HCI

1000 &ymid gevrenfiled 40 Symib NaOH seniy&edlei
gyey

1) 1 Guwmevry

2) 1 normal

3) 1 Gomed

4) Benal 61D B606m6V

ACB uwmpibo ADB suduw @yemi® GleusiGeum
QFWEO(LPENBHET cLpevld @(h euTujenel A (pgHev B
6UeM[ 6T(H&SHGVITID.

P
C B

A D
v

ureng ACB uweup s Gurg 60 J Geuliuib
gewwolinlsd  urtwidpa  wppd  30)  Geuemev
Siewoliumed Gauiwtiu@dsg. ADB urtengenwill
LWSTUGSSHeme0,  Diewoliumed  QFuwiuGLD
BGeuemev 10 J. umeng, ADB §sb 2 _siten iemiolitllsd
Geuliul LTWIFF6d

1)407

2)801J

3) 100J

4) 20
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17.

18.

19.

20.

When a system is taken from state i to state f
along the path i a f, it is found that Q =50 cal and
W=20 cal. Along the pathi b fQ = 36 cal. W
along the path i b fis

a ~

> f
A 0\
1 > b
1) 14 cal
2) 6 cal
3) 16 cal
4) 66 cal

Match the thermodynamic processes taking place
in a system with the correct conditions. In the
table: AQ is the heat supplied, AW is the work
done and AU is change in internal energy of the

system.
Process Condition
i) Adiabatic |a) AW =0
ii) Isothermal [b) AQ =0
iii) Isochoric |c) AU#0, AW #0, AQ #0
iv) Isobaric  |d) AU=0

1) i-a, ii-b, iii-c, iv-d
2) i-b, ii-a, iii-d, iv-c
3) i-d, ii-a, iii-b, iv-c
4) i-b, ii-d, iii-a, iv-c

n moles of an ideal gas with constant volume heat
capacity Cy undergo an isobaric expansion by
certain volume. The ratio of the work done in the
process, to the heat supplied is:

nR
1)
Cy+nR

nR
Cy—nR

2)

4nR
Cy—nR

3)

4nR
Cy+nR

4)

The work of 146 kJ is performed in order to
compress one kilo mole of gas adiabatically and
in this process the temperature of the gas
increases by 7°C. The gas is (R= 8.3 J molt K1)
1) diatomic

2) triatomic

3) a mixture of monoatomic and diatomic

4) monoatomic

17.

18.

19.

20.

I af aep utengulsd 1 uledmba f B& @
iy eipdaliuGGuTa;, Q =50 cal wmBpib
W=20 cal s1ai1m| semi_pluiiGasal. Lreaguies |
bfQ=236cal. Wurewsuiev i b f eresiug

a > f

A 1\

i > b

1) 14 cal

2) 6 cal

3) 16 cal

4) 66 cal

QRH DIMLILT6L HenL GUBID Geulil uidbsailuied
CFWeL(PemBHMET  FFWITET  [HleN6VEMLDE ETHL 63T
QuTpSSAD. I Leumeniuied: AQ  eraiiLg)

aupRIBLUL L Geuiud, AW eraiug QFuiuiiii@G
Gouemev wBBID AU 66l SienOLITer o 6T
SLBBeVL  gBUGBLD  LOTBBIOTEGD.  CFUIeOLPmB

[Hlem60

Process Condition

i) Geuwu ufwmspb|a) AW =0
Beveur_Bleipey

i) Geutis  PHewev ompr|b) AQ=0
B0

1ii) uepioest womBT Pawe [C) AU £ 0, AW £ 0,

AQ#0
IV) 9105510 wrpr Bspe)|d) AU =0

1) i-a, ii-b, iii-c, iv-d
2) 1-b, ii-a, iii-d, iv-c
3) i-d, ii-a, iii-b, iv-C
4) i-b, ii-d, iii-a, iv-c

Blemeowimer &6t Sienma] Geulilg gmper Cy Gamewi
@ Fpbs eutwaiet N GomebadsT GBILLILL Sieney
(PEULD DIIRSHBLD ompr  ealfleunsssHHBE
o upPamer.  GFweoumiged  GEuiwliuGL
Gouemevullesr al&lgd, euPRIBLILILL OeulILSSHBE
N 7R
) Cy+nR
) nR
Cy—nR
4nR
Cy—nR
4nR
Cy+nR

3)
4)

146 k) Ber Gouemeowitendl @ HGeor Gomed
aumyenel Oeulil  ufoTBBL — BeveoT BB
SIWHSHUSHBHTH OFLIWILILGSBSH OBHBILD BbHSH
Qgwedum1ged  eumwalenr  Qeuliumeney  7°C
aFsfésAma. eutu) _ (R=8.3J mol K1)

1) Fyemy

2) epeugm

3) @Uaml OBHBID FTED H6eV6M6

4) @rem
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NEET MICRO TEST 11 (21.11.2024)

20x4=80 MARKS

Botany: Sexual reproduction in flowering plants, Zoology: Reproductive Health

Chemistry: Solutions, Physics: Thermodynamics

1. Answer: (1)
2. Answer: (2)
3. Answer: (3)
4. Answer: (3)
5. Answer: (3)
6. Answer: (2)
7. Answer: (1)
8. Answer: (3)
9. Answer: (1)
10. Answer: (2)

11. Answer: (4)

12. Answer: (2)
_ Wtx1000 \ 7.1x1000

: =0.5M
M.Wt.xV 142 %100
13. Answer: (3)
. Number of moles
Molarity = -
Volume of solution (L)
Moles of water = Mass = 1000 =55.6

Molar mass 18

, 55.6
Molarity = - - 55

14. Answer: (3)
N1Vi+ N2V = NV
4x+10(1-x) =6 x 1; —6x = —4; x=0.67
Thus 0.67 litre of 4N HCI
1-x=1-0.67=0.33 litre of 10N HCI

15. Answer: (3)
40 gNaOH = 1 mole

moles of the solute 1

mass of the solventinkg | I molal

molality=

16. Answer: (1)

P
C B

17. Answer: (2)
a

AU remains same for both paths ACB and ADB
A(QACB = AW + AUACB

ACB
=60J=30J+AU,
=U,.,=30J

ACB

AU =AU, =30]

ACB

AQADB—AU s TAW
:10J+30J:40J

> f
A (N
1 > b
For path iaf,

0O, =50cal, W, = 20 cal
By first law of thermodynamics,
AU=Q,—W,=50-20=30cal.
For path lbf
0,=36¢cal
W2 2l

=0,-W,
Slnce the change in internal energy does not depend on the
path, therefore AU =AU,

ibf
AUtaf AUtbf

= 30=0,-
= W2:36—3O:6ca1.

18. Answer: (4)

(I) Adiabatic process : No exchange of heat takes
place with surroundings.

=A0=0
(II) Isothermal process : Temperature remains constant

.'.AT:0:>AU:§nRAT:>AU:0

No change in internal energy [AU=0].
(IIT) Isochoric process volume remains constant

AV:O:W:[P-dV:O

Hence work done is zero.
(IV) In isobaric process pressure remains constant.
W=P-AV#0

AU = %nRAT = %[PAV] )

. AQ =nC,AT #0
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19. Answer: (1)
At constant volume
Work done (W) = nRAT
Heat given Q= CVAT +nRAT
So, - w_ nRAT ___ MR
Q C,AT+nRAT Cy +nR

20. Answer: (1)

Work done in adiabatic compression is given by
W= nRAT
=Y

e 146000 = 1000x8.3x7

or l—y :—%'61:1( :l+&:1.4

6 - 146
Hence the gas is diatomic.
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